Original OASIS SB Solicitation

Pass/Fail Criteria

Must submit in proposal format

• Reference Section L.4 Proposal Format

Must submit supporting documentation as a "Prime" Contractor

- Reference Section L.5 Proposal Content
 - Experience as a subcontractor is not acceptable

Must submit Pool Qualification

Reference Section L.5.1.2. Pool Qualification and Certification

- Two (2) Pool Qualification projects performed as a Federal Prime under a NAICS/PSC in that pool.
- Must have been completed within the past Five (5) years prior to the solicitation closing date; or, be ongoing.
- Must have a Past Performance rating of 3.0 or higher.

Must submit a proposal checklist

• Reference section L.5.1.3

Must submit a self scoring worksheet

• Reference section L.5.1.4

Must submit a Professional Employee Compensation Plan

• Reference section L.5.1.5

Must submit Uncompensated Overtime Policy

• Reference section L.5.1.6

Must submit a Modified Pre-Award Survey (SF 1408)

- Reference section L.5.1.7
- This is for ensuring your organization's Accounting System is either ready for or has been audited by the Defense Contract Audit Agency (DCAA), CPA/Consultant, or other Cognizant Federal Agency.

Must submit Meaningful Relationship Commitment Letters (MRCL) (if applicable)

- Reference section L.5.1.9
 - If using affiliates, divisions, etc. for meeting minimum or any other evaluation element, must submit an MRCL for performance committal from that entity.
 - Any evaluation element under Section L.5., Volume 1 through 6, for which an Offeror was identified as a "Subcontractor" will be rejected.

Must submit proof of Existing Joint Venture experience (if applicable)

- Reference section L.5.1.10
 - All supporting documentation (experience, etc.) must be from the Joint Venture itself, not the individual members.

Must be determined Responsible

- Reference section L.5.2 for standard responsibility determination details including
 - o Financial
 - Reps and Certs

Must submit documentation to support minimum requirements for relevant experience projects (Reference section L.5.3)

- To be eligible for award, the Offeror must pass the minimum requirements in Section L.5.3.1.
- Relevant Experience is divided into <u>two separate categories</u>, Primary Projects and Secondary Projects:
 - 1. The *Primary category* of relevant experience is tied solely to projects submitted under Section L.5.3.1. The criteria in Sections L.5.3.1. through L.5.3.2.8. apply to the same projects submitted under Section L.5.3.1.
 - 2. The Secondary category of relevant experience applies to scoring criteria associated with Mission Spaces and Multiple Award Contracting. These projects can be based on any.set of projects the Offeror chooses to submit in accordance with Section L.5.3.3. The criteria in Sections L.5.3.3. through L.5.3.3.2. apply to the second category.
- Reference section L.5.3.1. Pass/Fail Requirements for Relevant Experience (Primary) Projects
 - One (1) out of the required relevant experience primary projects may, at the discretion of the Offeror, be a collection of task orders placed under a Single-Award IDIQ task order contract or Single-Award BPA.

- Any combination of U.S. Federal Government, U.S. State Government, International Public Sector, and Non-Government/Commercial projects can be submitted.
- Note: A Subcontract under a U.S. Federal or State Government Prime Contract is not considered a "Commercial" project and will be rejected if submitted as a Commercial project.
- Offeror must submit A MINIMUM OF THREE (3) UP TO A MAXIMUM OF FIVE
 (5) distinct Relevant Experience (Primary) Projects
- Each Project must involve the performance and/or integration of <u>at least Three</u>
 (3) out of the Six (6) OASIS Core Disciplines.
 - Program Management Services,
 - Management Consulting Services,
 - Scientific Services.
 - Engineering Services,
 - Logistics Services, and
 - Financial Management Services.
- Each Relevant (Experience) Primary Project must be ongoing or have been completed within the past 5 years. Each project must have at least one year of performance unless one of the following situations exist:
 - The project has a completed CPARS.
 - The project has a completed Award Fee Determination.
 - The project had a base period of performance less than one year and that period of performance is complete.
- The combined annual value of the projects must be equal to or <u>greater than</u> <u>\$750 Thousand</u> per year. No Individual Annual Project Value shall be <u>less</u> <u>than \$150,000</u> per year.
 - Annual project value for completed projects is determined as follows:
 - total obligated dollars divided by
 - the total number of months of performance multiplied by 12.
 - Annual project value for ongoing projects is determined as follows:
 - total estimated value (inclusive of all option periods) divided by
 - the total number of months of performance (inclusive of all option periods) multiplied by 12.
 - If One (1) of the projects is a "collection of task orders" placed under a Single-Award IDIQ task order contract or Single-Award BPA, each task order will be calculated based on the formulas above.

Basis For Award

Reference Section M.2 Basis for Awards

- The source selection process on OASIS will neither be based on the Lowest Price Technically Acceptable (LPTA) nor Tradeoffs.
- The Highest Technically Rated, Fair and Reasonable Price approach will be used.
- OASIS will consist of 7 MA-IDIQ task order contracts, referred to as Pools. Multiple awards shall be made in each of the 7 Pools. 40 awards are anticipated in each Pool (e.g., 40 multiple awards for Pools 1,2,3,4, and 6) and (20 multiple awards for Pools 5.A. and 20 multiple awards for 5.B.). In the event of a tie at the number 40/20 position (as applicable), all Offerors tied will receive an award in the respective Pool.

Scoring Table

Reference Section M.6

Section	Element	Point Value	Number of Potential Occurrences	Total Max Points Per Element	Max Point Value			
L.5.3.	VOLUME 3 – RELEVANT EXPERIENCE							
L.5.3.2.1.	Relevant Experience under an OASIS SB NAICS Code or PSC Code:							
	Project reported under a NAICS Code that correlates directly to an OASIS SB NAICS Code or PSC Code in Section L.5.1.2.	150	5	750	750			
L.5.3.2.2.	Individual Project Value:							
	Project valued at \$750 thousand or more on an annual basis but, less than \$2 Million on an annual basis, including options	25	5	125				
	Project valued at \$2 Million or more on an annual basis but, less than \$4 Million on an annual basis, including options	50	5	250				
	Project averages \$4 Million or more on an annual basis but, less than \$6 Million on an annual basis, including options	75	5	375				
	Project averages \$6 Million or more on annual basis, including options	100	5	500	500			
L.5.3.2.3.	Performance/Integration of Additional Core Disciplines:							
	Project involves the performance and/or integration of 4 out of 6 Core Disciplines	50	5	250				
	Project involves the performance and/or integration of 5 out of 6 Core Disciplines	75	5	375				
	Project involves the performance and/or integration of all 6 Core Disciplines	100	5	500	500			
L.5.3.2.4.	Multiple Locations (Places of Performance):							
	Project performed in 2 to 4 different locations	50	5	250				
	Project performed in 5 or more different locations	100	5	500	500			
L.5.3.2.5.	Subcontracting/Teaming:							
	Project involves subcontracting/teaming for services with at least 3 separate entities	100	5	500	500			
L.5.3.2.6.	Ancillary Support Products and Services:							
	Project includes Ancillary Support Products	50	5	250				
	Project includes Ancillary Support Services	50	5	250	500			
L.5.3.2.7.	Cost Reimbursement Projects:							
1 5 2 2 0	Contract Type is predominately Cost-Reimbursement (includes all Cost type under FAR 16.3) (Limited to 2 out of 5 projects for scoring purposes only) OCONUS Projects:	100	2	200	200			
L.5.3.2.8.	Project includes OCONUS work (Limited to 2 out of 5 projects for scoring purposes only)	100	2	200	200			
L.5.3.3.1.	Mission Spaces:	100		200	200			
	SECTION AND ADDRESS OF THE PROPERTY OF THE PRO	50	1 1	50				
	Offeror has been awarded projects in at least 2 different Mission Spaces but, no more than 2	100	1 1	100	8			
	Offeror has been awarded projects in at least 3 different Mission Spaces but, no more than 3	150	4	150				
1 5 2 2 2	Offeror has been awarded projects in at least 4 different Mission Spaces but, no more than 4	1, 1, 1, 7, 7, 5,	1	200	200			
	Offeror has been awarded projects in at least 5 different Mission Spaces	200	1	200	200			
L.5.3.3.2	Multiple Award Contracts/Task Orders:	En	1 4	EA				
	Offeror has been awarded at least 2 Multiple award contracts but, no more than 5 Multiple Award contracts, with at least 4 total Task Order awards combined. At least Two (2) Task Orders must have been awarded under each multiple award contract.	50	1	50				
	Offeror has been awarded at least 5 Multiple Award contracts but, not more than 10 Multiple Award Contracts, with at least 10 total Task Order awards combined. At least Two (2) Task Orders must have been awarded under each multiple award contract	100	1	100				
	Offeror has been awarded at least 10 Multiple Award contracts with at least 20 total Task Order awards combined. At least Two (2) Task Orders must have been awarded under each multiple award contract	150	1	150	150			
				MAX VOL. 3 Points	4,000			

L.5.4.1. through L.5.4.3.	VOLUME 4 – PAST PERFORMANCE Relevant Experience Projects:				
3.000.000	Average scoring of 3.50 to 3.74	350	5	1750	
	Average scoring of 3.75 to 3.99	450	5	2250	
	Average scoring of 4.00 to 4.24	550	5	2750	
	Average scoring of 4.25 to 4.49	600	5.	3000	
	Average scoring of 4.50 to 4.74	700	5	3500	
	Average scoring of 4.75 to 5.00	800	5	4000	4,000
L.5.5.	VOLUME E CYCTEMS CERTIFICATIONS AND SI FARA	NOEC		MAX VOL. 4 Points	4,000
L.5.5.1. through L.5.5.4.	VOLUME 5 – SYSTEMS, CERTIFICATIONS, AND CLEARA Government Systems:	NCES			
	Approved Purchasing System	500	1	500	500
	Current FPRA, FPRR, and/or Approved Billing Rates	200	1	200	200
	EVMS ANSI/EIA Standard-748	200	1	200	200
	Acceptable Estimating System	200	1	200	200
L.5.5.5. through L.5.5.9.	Industry Certifications:			90	.0.
	CMMI Maturity Level 2	100	1		
	CMMI Maturity Level 3 or higher	200	1	200	200
	ISO 9001:2008	200	1	200	200
	ISO 17025	100	1	100	100
	ISO 14001:2004	100	1	100	100
	AS9100	100	1	100	100
L.5.5.10.	Government Facility Clearances:				
	Secret	100	1	1	
	Top Secret	200	1	200	200
				MAX VOL. 5 Points MAX	2,000
				Points Volumes	10,000